

$$3. \int \frac{1 - \sin x}{\cos^2 x} dx$$

$$= \int \left(\frac{1}{\cos^2 x} - \frac{\sin x}{\cos^2 x} \right) dx \quad \left[\because \sec \alpha = \frac{1}{\cos \alpha} \right]$$

$$= \int (\sec^2 x - \sec x \cdot \tan x) dx \quad \left[\because \int \sec x \cdot \tan x dx = \sec x + c \right]$$

$$= \tan x - \sec x + c$$

$$\therefore \boxed{\int \frac{1 - \sin x}{\cos^2 x} dx = \tan x - \sec x + c}$$

$$4. \int \sin^2 \frac{x}{2} dx$$

$$= \frac{1}{2} \int 2 \sin^2 \frac{x}{2} dx$$

$$= \frac{1}{2} \int (1 - \cos x) dx \quad \left[\because 1 - \cos \alpha = 2 \sin^2 \alpha / 2 \right]$$

$$= \frac{x}{2} - \frac{\sin x}{2} + c.$$

$$\therefore \boxed{\int \sin^2 \frac{x}{2} dx = \frac{1}{2} (x - \sin x) + c.}$$

Preview from Notesale.co.uk
Page 2 of 54

$$16. \int \frac{\sin^3 x - \cos^3 x}{\sin^2 x \cdot \cos^2 x} dx$$

$$\equiv \int \frac{\sin^3 x}{\sin^2 x \cdot \cos^2 x} dx - \int \frac{\cos^3 x}{\sin^3 x \cdot \cos^2 x} dx$$

$$\equiv \int \frac{\sin x}{\cos^2 x} dx - \int \frac{\cos x}{\sin^3 x} dx$$

$$= \int \operatorname{tg} x \cdot \operatorname{sec} x dx - \int \operatorname{cosec} x \cdot \operatorname{tg} x dx$$

$$= \operatorname{sec} x + \operatorname{cosec} x + c$$

$$\therefore \boxed{\int \frac{\sin^3 x - \cos^3 x}{\sin^2 x \cdot \cos^2 x} dx = \operatorname{sec} x + \operatorname{cosec} x + c.}$$

$$17. \int \frac{\cos^2 x - \sin^2 x}{\sqrt{1 + \cos 4x}} dx$$

$$= \int \frac{\cos 2x}{\sqrt{1 + \cos 4x}} dx$$

$$= \int \frac{\cos 2x}{\sqrt{2\cos^2 2x}} dx$$

$$= \frac{1}{\sqrt{2}} \int \frac{\cos 2x}{\cos 2x} dx$$

$$= \frac{1}{\sqrt{2}} \int dx$$

$$= \frac{1}{\sqrt{2}} x + c$$

$$\therefore \boxed{\int \frac{\cos^2 x - \sin^2 x}{\sqrt{1 + \cos 4x}} dx = \frac{x}{\sqrt{2}} + c}$$

$$18. \int \frac{3\cos x + 4}{\sin^2 x} dx$$

$$= 3 \int \frac{\cos x}{\sin^2 x} dx + 4 \int \frac{dx}{\sin^2 x}$$

$$= 3 \int \operatorname{cosec} x \cdot \cot x + 4 \int \operatorname{cosec}^2 x dx$$

$$= -3 \operatorname{cosec} x - 4 \cot x + c$$

$$\therefore \boxed{\int \frac{3\cos x + 4}{\sin^2 x} dx = -3 \operatorname{cosec} x - 4 \cot x + c.}$$

$$\begin{aligned}
23. & \int \frac{\sec x}{\sec x + \tan x} dx \\
&= \int \frac{\sec x}{\sec x + \tan x} \cdot \frac{(\sec x - \tan x)}{(\sec x - \tan x)} dx \\
&= \int \frac{\sec^2 x - \sec x \cdot \tan x}{\sec^2 x - \tan^2 x} dx \\
&= \int (\sec^2 x - \sec x \cdot \tan x) dx ; [\because \sec^2 x - \tan^2 x = 1] \\
&= \tan x - \sec x + c.
\end{aligned}$$

$$\therefore \boxed{\int \frac{\sec x}{\sec x + \tan x} dx = \tan x - \sec x + c.}$$

$$\begin{aligned}
24. & \int \frac{\cos x - \cos 2x}{1 - \cos x} dx \\
&= \int \frac{\cos x - (2\cos^2 x - 1)}{1 - \cos x} dx \\
&= \int \frac{\cos x - 2\cos^2 x + 1}{1 - \cos x} dx
\end{aligned}$$

$$\begin{aligned}
&= - \int \frac{2\cos^2 x - \cos x - 1}{1 - \cos x} dx \\
&= - \int \frac{(2\cos x + 1)(\cos x - 1)}{-(\cos x - 1)} dx \\
&= \int (2\cos x + 1) dx \\
&= 2\sin x + x + c
\end{aligned}$$

$$\therefore \boxed{\int \frac{\cos x - \cos 2x}{1 - \cos x} dx = 2\sin x + x + c.}$$

$$\begin{aligned}
 28. & \int \frac{\sin^6 x + \cos^6 x}{\sin^2 x \cdot \cos^2 x} dx ; [a^3 + b^3 = (a+b)^3 - 3ab(a+b)] \\
 &= \int \frac{(\sin^2 x + \cos^2 x)^3 - 3\sin^2 x \cdot \cos^2 x (\sin^2 x + \cos^2 x)}{\sin^2 x \cdot \cos^2 x} dx \\
 &= \int \frac{1 - 3\sin^2 x \cdot \cos^2 x}{\sin^2 x \cdot \cos^2 x} dx \\
 &= \int \frac{dx}{\sin^2 x \cdot \cos^2 x} - 3 \int dx \\
 &= \int \frac{\sin^2 x + \cos^2 x}{\sin^2 x \cdot \cos^2 x} dx - \int 3 dx \\
 &= \int \frac{dx}{\cos^2 x} + \int \frac{dx}{\sin^2 x} - \int 3 dx \\
 &= \int (\sec^2 x) dx + \int \operatorname{cosec}^2 x dx - \int 3 dx \\
 &= \operatorname{tg} x - \operatorname{cot} x - 3x + c.
 \end{aligned}$$

$$\therefore \boxed{\int \frac{\sin^6 x + \cos^6 x}{\sin^2 x \cdot \cos^2 x} dx = \operatorname{tg} x - \operatorname{cot} x - 3x + c.}$$

$$38. \int \cos^3 x dx$$

$$\text{where: } \cos 3a = 4\cos^3 a - 3\cos a$$

$$4\cos^3 a = \cos 3a + 3\cos a$$

$$\cos^3 a \equiv \frac{1}{4}(\cos 3a + 3\cos a)$$

$$\therefore \int \cos^3 x dx$$

$$= \frac{1}{4} \int (\cos 3x + 3\cos x) dx$$

$$= \frac{1}{4} \left(\frac{1}{3} \sin 3x + 3 \sin x \right) + c$$

$$= \frac{\sin 3x}{12} + \frac{3 \sin x}{4} + c.$$

$$\therefore \boxed{\int \cos^3 x dx = \frac{\sin 3x}{12} + \frac{3 \sin x}{4} + c.}$$

$$64. \int \frac{2\cos x - 3\sin x}{6\cos x + 4\sin x} dx$$

$$\text{let } m = 6\cos x + 4\sin x$$

$$\Rightarrow dm = (4\cos x - 6\sin x) dx$$

$$\Leftrightarrow \frac{dm}{2} = (2\cos x - 3\sin x) dx$$

$$\therefore \int \frac{2\cos x - 3\sin x}{6\cos x + 4\sin x} dx$$

$$= \frac{1}{2} \int \frac{dm}{m}$$

$$= \frac{1}{2} \ln|m| = \frac{1}{2} \ln|6\cos x + 4\sin x| + c$$

$$\therefore \boxed{\int \frac{2\cos x - 3\sin x}{6\cos x + 4\sin x} dx = \frac{\ln|6\cos x + 4\sin x|}{2} + c.}$$

$$65. \int \frac{\sin x}{(1 + \cos x)^2} dx$$

$$\text{put } u = 1 + \cos x \Rightarrow du = -\sin x dx$$

$$\therefore \int \frac{\sin x}{(1 + \cos x)^2} dx$$

$$= - \int \frac{du}{u^2} = \frac{1}{u} + c$$

$$= \frac{1}{1 + \cos x} + c$$

$$\therefore \boxed{\int \frac{\sin x}{(1 + \cos x)^2} dx = (1 + \cos x)^{-1} + c.}$$

$$72. \int \frac{\sin 2x}{\sin 4x} dx$$

$$= \int \frac{\sin 2x}{2 \sin 2x \cos 2x} dx$$

$$= \frac{1}{2} \int \frac{dx}{\cos 2x}$$

$$= \frac{1}{2} \int \sec 2x dx$$

$$= \frac{1}{2} \cdot \frac{\ln |\sec 2x + \tan 2x|}{2} + c$$

$$\therefore \boxed{\int \frac{\sin 2x}{\sin 4x} dx = \frac{1}{4} \ln |\sec 2x + \tan 2x| + c.}$$

Preview from Notesale.co.uk
Page 46 of 54

$$\begin{aligned}
 81. & \int \frac{\sin 2x - \cos x}{\sin^2 x - \sin x + 3} dx \\
 &= \int \frac{2\sin x \cdot \cos x - \cos x}{\sin^2 x - \sin x + 3} dx \\
 &= \int \frac{(2\sin x - \cos x)}{\sin^2 x - \sin x + 3} \cdot \cos x dx
 \end{aligned}$$

$$\text{let: } u = \sin x \Rightarrow du = \cos x dx$$

$$= \int \frac{2u - 1}{u^2 - u + 3} du$$

$$= \int \frac{(u^2 - u + 3)}{(u^2 - u + 3)} du$$

$$= \ln|u^2 - u + 3| + c.$$

$$= \ln|\sin^2 x - \sin x + 3| + c.$$

$$\therefore \boxed{\int \frac{\sin 2x - \cos x}{\sin^2 x - \sin x + 3} dx = \ln|\sin^2 x - \sin x + 3| + c.}$$

Preview from Notesale.co.uk
Page 54 of 54